BIFROST AUTO PTE LTD

REPAIR ESTIMATE

_	-	_	_	_	
	Λ				
\boldsymbol{L}	\vdash	N			

12-Oct-20

INSURANCE: MSIG

MODEL:

HYUNDAI 140

VEHICLE NO.: SHA 5006 B

DESCRIPTION	QTY	LIST PRICE	AMOUNT
BONNET Deutel	1	\$2,265.90	\$2,265.90
BONNET RUBBER (LH) HL	1	\$35.70	\$35.70
BONNET RUBBER (RH)	1	\$35.70	\$35.70
BONNET HINGE (LH/RH) ⊢ →	2	\$126.70	\$253.40
BONNET LOCK 🗠	1	\$142.40	\$142.40
BONNET INSULATOR HA	1	\$202.50	\$202.50
BONNET INSULATOR CLIP 10 PCS 🛰	1	\$36.80	\$36.80
BONNET SEAL MM	1	\$31.90	\$31.90
BONNET INSULATOR CLIPS 🙌	1	\$15.00	\$15.00
RADIATOR GRILLE HEMBLEM LLC	1	\$129.50	\$129.50
RADIATOR GRILLE baken 1110.50	1	\$1,480.00	\$1,480.00
FRONT BUMPER COVER Punctual	1	\$1,052.20	\$1,052.20
FRONT BUMPER SPONGE	1	\$379.20	\$379.20
FRONT BUMPER REINFORCEMENT Denty	1	\$588.40	\$588.40
FRONT BUMPER GRILLE (LH/RH)	2	\$149.20	\$298.40
FRONT BUMPER LIP HA	1	\$152.00	\$152.00
FRONT BUMPER BRACKET TOP (LH/RH)	2	\$44.80	\$89.60
FRONT BUMPER BRACKET (LH/RH)	2	\$49.20	\$98.40
FRONT BUMPER RETAINER MOUNTING	1	\$76.20	\$76.20
FRONT BUMPER GRILLE AIR DUCT (RH)	1	\$126.20	\$126.20
HEADLAMP SUPPORT PANEL ASSY ? broken 2000	1	\$907.40	\$907.40
HEADLAMP (RH) warmy chic 1388.00	1	\$2,776.00	\$2,770.00
HEADLAMP SUPPORT TOP COVER H→	1	\$222.60	\$222.60
RADIATOR 2 15+ 708.50	1	\$1,637.20	\$1,637.20
RADIATOR GUARD (LH/RH)	2	\$76.50	\$153.00
COOLANT Hu	1	\$ 45.00	\$ 45.00
FRONT FENDER (RH) Durch	1	\$566.30	\$566.30
FRONT FENDER SHIELD (RH)	1	\$174.90	\$174.90
AIRCON CONDENSER 2 151	1	\$947.80	\$947.80
NTER COOLER *** CVENC	1	\$1,032.50	\$1,032.50
SUB TOTAL 121.86			\$15,952.10
LESS 20%			\$3,190.42
DISCOUNTED TOTAL 8974.88			\$12,761.68
			\$12,761.60
FRONT NUMBER PLATE MOKEN SN	1	\$25.00	\$25.00
FRONT NO. PLATE TRIM COVER by ker SN	1	\$30.00	\$30.00
FRONT FENDER ADVERTISEMENT LOGO LLC SN	1	\$100.00	\$100.00
SUB TOTAL 145.00			\$155.00
Labour Charge			

Danal Posting	1	4/ /00 04		-
Panel Beating	1	\$1,400.00	\$1,400.00	元
Spray Painting Charge	1	\$1,200.00	\$1,200.00	60
Wiring Charge	1	\$160.00		
Tuff Kote	1	\$160.00		
Towing Charge 500-00	1	\$80.00		
Remove/Refix Radiator	1	\$90.00		
Remove/Refix Aircon & Refill Gas	1	\$130.00		
Diagnostic & Resetting To Erase Fault Code	1	\$550.00		
TOTAL LABOUR			\$3,770.00	
ESTIMATE TOTAL			\$ 16,686.68	

This is an initial estimate based on a visual inspection of the above vehicle. The final repair quantum will be prepared after the vehicle is surveyed by a motor Surveyor appointed by the insurance company.

14/10/22 @ 0900 hrs

Ha Andrul

Hann 6

Jan Bays.

Jak Ando

10619.88 Supp 1110.40 11730.28 LIS 93001

Provide book value

18907-48

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

BIFROST AUTO PTE LTD

REPAIR SUPPLEMETARY

DATE:

14-Oct-20

INSURANCE: ___ MSIG

MODEL:

HYUNDAI 140

VEHICLE NO.: SHA 5006 B (S)

DESCRIPTION	QTY	LIST PRICE	AMOUNT
HEADLAMP (LH) monny Crede 1388.00	1	\$2,776.00	
SUB TOTAL			\$2,776.00
LESS 20%			\$555.20
DISCOUNTED TOTAL			\$2,220.80

This is an initial estimate based on a visual inspection of the above vehicle. The final repair quantum will be prepared after the vehicle is surveyed by a motor Surveyor appointed by the insurance company.

1388.00 207, 1110.40